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Q1). What is the main task of a problem-solving agent? समस्या-समाधान एजेंट 

का मुख्य कायय क्या है? 

A). Solve the given problem and reach to goal /दी गई समस्या को हल करें और लक्ष्य 

तक पहुुंचें  B). To find out which sequence of action will get it to the goal state /यह 

पता लगाने के ललए कक कारयवाई का कौन सा क्रम इसे लक्ष्य स्स्ितत तक ले जाएगा C). All 

of the mentioned /उस्ललखित सभी D). None of the mentioned /उललेखित कोई भी नहीुं 
Answer :- All of the mentioned /उस्ललखित सभी 
Explanation :-  The problem-solving agents are one of the goal-based 

agents.समस्या-समाधान एजेंट लक्ष्य-आधाररत एजेंटों में से एक हैं। 
Q2). What is state space?राज्य स्िान क्या है? 

A). The whole problem /पूरी समस्या  B). Your Definition to a problem /ककसी 
समस्या के ललए आपकी पररभाषा C). Problem you design /आपके द्वारा डिजाइन की गई 

समस्या D). Representing your problem with variable and parameter /वेररएबल और 

पैरामीटर के साि अपनी समस्या का प्रतततनधधत्व करना 
Answer :- Representing your problem with variable and parameter /वेररएबल 

और पैरामीटर के साि अपनी समस्या का प्रतततनधधत्व करना 
Explanation :-  Because state space is mostly concerned with a problem, when you 

try to solve a problem, we have to design a mathematical structure to the problem, 

which can only be through variables and parameters. eg. You have given a 4-gallon 

jug and another 3-gallon jug. Neither has measuring marker on it. You have to fill 

the jugs with water. How can you get exactly 2 gallons of water in to 4 gallons. 

Here the state space can defined as set of ordered pairs integers(x,y), such that 

x=0,1,2,3 or 4 and y=0,1,2 or 3; X represents the number of gallons in 4 gallon jug 

and y represents the quantity of water in the 3-gallon jug.क्योंकक राज्य स्िान 

अधधकतर ककसी समस्या से सुंबुंधधत होता है, जब आप ककसी समस्या को हल करने का 
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प्रयास करते हैं, तो हमें समस्या के ललए एक गखितीय सुंरचना तैयार करनी होती है, जो 
केवल चर और मापदुंिों के माध्यम से हो सकती है। जैसे. आपने एक 4 गैलन जग और 

दसूरा 3 गैलन जग ददया है। न ही उस पर मापने वाला माकय र है। तुम्हें जगों में पानी भरना 
है. आप ठीक 2 गैलन पानी को 4 गैलन में कैसे प्राप्त कर सकते हैं? यहाुं राज्य स्िान को 
क्रलमत जोड ेपूिाांकों (x,y) के सेट के रूप में पररभाषषत ककया जा सकता है, जैसे कक 

x=0,1,2,3 या 4 और y=0,1,2 या 3; X 4 गैलन जग में गैलन की सुंख्या को दर्ायता है और y 

3 गैलन जग में पानी की मात्रा को दर्ायता है। 
Q3). The Set of actions for a problem in a state space is formulated by 

a___________  . ककसी राज्य स्िान में ककसी समस्या के ललए कक्रयाओुं का सेट 

___________ द्वारा तैयार ककया जाता है 

A). Intermediate states /मध्यवती राज्य  B). Initial state /प्रारुंलभक अवस्िा C). 

Successor function, which takes current action and returns next immediate state 

/उत्तराधधकारी फुं क्र्न, जो वतयमान कारयवाई करता है और अगली तत्काल स्स्ितत लौटाता है 

D). None of the mentioned /उललेखित कोई भी नहीुं 
Answer :- Successor function, which takes current action and returns next 

immediate state /उत्तराधधकारी फुं क्र्न, जो वतयमान कारयवाई करता है और अगली 
तत्काल स्स्ितत लौटाता है 

Explanation :-  The most common formulation for actions uses a successor 

function. Given a particular state x, SUCCESSOR-FN(x) returns a set of (action, 

successor) ordered pairs, where each action is one of the legal actions in state x and 

each successor is a state that can be reached from x by applying the action.कक्रयाओुं 
के ललए सबसे सामान्य सूत्रीकरि एक उत्तराधधकारी फुं क्र्न का उपयोग करता है। एक 

षवर्ेष स्स्ितत x को देिते हुए, SUCCESSOR-FN(x) आदेलर्त जोड े(कारयवाई, 

उत्तराधधकारी) का एक सेट लौटाता है, जहाुं प्रत्येक कक्रया राज्य x में कानूनी कक्रयाओुं में से 
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एक है और प्रत्येक उत्तराधधकारी एक ऐसी स्स्ितत है स्जसे लाग ूकरके x से पहुुंचा जा सकता 
है कायय। 
Q4). A search algorithm takes _________ as an input and returns ________ as 

an output.एक िोज एलगोररदम इनपुट के रूप में _________ लेता है और आउटपुट के 

रूप में ________ लौटाता है। 
A). Input, output /इनपुट, आउटपुट  B). Problem, solution /समस्या, समाधान C). 

Solution, problem /समाधान, समस्या D). Parameters, sequence of actions /पैरामीटर, 

कक्रयाओुं का क्रम 

Answer :- Problem, solution /समस्या, समाधान 

Explanation :-  A search algorithm takes input as a problem and returns a solution 

to the problem as an output.एक िोज एलगोररदम इनपुट को एक समस्या के रूप में लेता 
है और समस्या का समाधान आउटपुट के रूप में लौटाता है। 
Q5). A problem in a search space is defined by one of these state.िोज स्िान में 
ककसी समस्या को इनमें से ककसी एक स्स्ितत द्वारा पररभाषषत ककया जाता है। 
A). Initial state / प्रारुंलभक अवस्िा  B). Last state /अुंततम अवस्िा C). Intermediate 

state /मध्यवती अवस्िा D). All of the mentioned /उस्ललखित सभी 
Answer :- Answer: a Initial state / प्रारुंलभक अवस्िा 
Explanation :-  problem has four components initial state, goal test, set of actions, 

path cost.एक समस्या के चार घटक होते हैं प्रारुंलभक स्स्ितत, लक्ष्य परीक्षि, कक्रयाओुं का 
सेट, पि लागत। 
Q6). The process of removing detail from a given state representation is called 

______ककसी ददए गए राज्य प्रतततनधधत्व से षववरि हटाने की प्रकक्रया को ______ कहा 
जाता है 
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A). Extraction /तनष्कषयि  B). Abstraction /अमूतयन C). Information Retrieval /सूचना 
पुनप्रायस्प्त D). Mining of data /िटेा का िनन 

Answer :- Abstraction /अमूतयन 

Explanation :-  The process of removing detail from a representation is called 

abstraction.ककसी प्रस्तुततकरि से षववरि हटाने की प्रकक्रया को अमूतयन कहा जाता है। 
Q7). A problem solving approach works well for ______________एक समस्या 
समाधान दृस्ष्टकोि ______________ के ललए अच्छा काम करता है 

A). 8-Puzzle problem /8-पहेली समस्या  B). 8-queen problem / 8-रानी समस्या C). 

Finding a optimal path from a given source to a destination /ककसी ददए गए स्रोत से 

गुंतव्य तक इष्टतम मागय ढूूँढना D). Mars Hover (Robot Navigation) /मासय होवर (रोबोट 

नेषवगेर्न) 

Answer :- Mars Hover (Robot Navigation) /मासय होवर (रोबोट नेषवगेर्न) 

Explanation :-  Problem-solving approach works well for toy problems and real-

world problems.समस्या-समाधान दृस्ष्टकोि खिलौना समस्याओुं और वास्तषवक दतुनया 
की समस्याओुं के ललए अच्छा काम करता है। 
Q8). The _______ is a touring problem in which each city must be visited 

exactly once. The aim is to find the shortest tour. _______ एक भ्रमि समस्या है 

स्जसमें प्रत्येक र्हर का ठीक एक बार दौरा ककया जाना चादहए। इसका उद्देश्य सबसे छोटा 
दौरा ढूुंढना है। 
A). Finding shortest path between a source and a destination /स्रोत और गुंतव्य के बीच 

सबसे छोटा रास्ता िोजना  B). Travelling Salesman problem /टै्रवललुंग सेलसमैन की 
समस्या C). Map coloring problem /मानधचत्र रुंगने की समस्या D). Depth first search 

traversal on a given map represented as a graph /ककसी ददए गए मानधचत्र पर गहराई का 
पहला िोज टै्रवसयल एक ग्राफ के रूप में दर्ायया गया है 
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Answer :- Travelling Salesman problem /टै्रवललुंग सेलसमैन की समस्या 
Explanation :-  Refer the TSP problem. टीएसपी समस्या देिें। 
Q9). A production rule consists of ____________एक उत्पादन तनयम में 
____________ होते हैं 
A). A set of Rule /तनयम का एक सेट  B). A sequence of steps /चरिों का एक क्रम C). 

Set of Rule & sequence of steps /तनयमों का सेट और चरिों का क्रम D). Arbitrary 

representation to problem /समस्या का मनमाना प्रतततनधधत्व 

Answer :- Set of Rule & sequence of steps /तनयमों का सेट और चरिों का क्रम 

Explanation :-  When you are trying to solve a problem, you should design how to 

get a step-by-step solution with constraints condition to your problem, e.g Chess 

board problem.जब आप ककसी समस्या को हल करन ेका प्रयास कर रहे हैं, तो आपको यह 

डिजाइन करना चादहए कक अपनी समस्या के ललए बाधाओुं की स्स्ितत के साि चरि-दर-
चरि समाधान कैसे प्राप्त करें, उदाहरि के ललए र्तरुंज बोिय की समस्या। 
Q10). What is the major component/components for measuring the 

performance of problem solving? समस्या समाधान के प्रदर्यन को मापने के ललए 

प्रमुि घटक/घटक क्या है? 

A). Completeness /पूियता  B). Optimality /इष्टतमता C). Time and Space complexity 

/समय और स्िान की जदटलता D). All of the mentioned /उस्ललखित सभी 
Answer :- All of the mentioned /उस्ललखित सभी 
Explanation :-  For best performance consideration of all component is necessary. 

सवोत्तम प्रदर्यन के ललए सभी घटकों पर षवचार करना आवश्यक है। 
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